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FA HEEZAID
3 SN A48d8y =M
&l HEYH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,018
402 2I2F X201 & 98,108 17,912 80,196
= 98,108
02 QIEN 2 AL EZ(0IETHR) 98,108 17,912 80,196
O F0| ZOors XEAMS 47,000
= 47,000
O 0] WS0t= KN3AE 51,108
= 51,108
SSHFHIATIAMS(EX) 119,574 0 119,574
= 119,574
402 212+ X201 & 119,574 0 119,574
= 119,574
02 QIZEN 2 AL E X (0IETHR) 119,574 0 119,574
O L&t AEilE XEAME 119,574
= 119,574
A2t XIS e 6,784,656 12,906,666 26,122,010
= 14,285
o 6,770,371
THE X JIEAIE AFE S 6,784,656 12,906,666 26,122,010
== 14,285
o 6,770,371
SADHE20F BoAY HE=A 1,764 17,428 15,664
202 04| 1,764 5,978 N4,214
01 =LHO LI 1,764 5,978 A4,214
O ZAIH=E EE0YI
70,0002 +32 %128 %70/100 1,764
2=z 2 2E 719,500 567,120 152,380
201 et23| 6,300 67,120 260,820
01 AtR2telHl 6,300 27,120 20,820
O = A2l d4+4
70,0003 * 122 +62 5,040
O ZAIHE 2 XM=
700,000& +2:2+90/100 1,260
308 XXM SO0IH 13,200 13,200
18 SIS0t & A AS A 13,200 13,200
O =z HE 288 dESis
2,200,000 +62 13,200
401 AIEHIX 20HH 700,000 500,000 200,000
01 A28l 700,000 500,000 200,000
O 203BE 25 Z2A|H=(HEH]) =8 89 700,000
01 ZAHEANE EXEY 805,270 4,005,570 A3,200,300
201 223 5,270 5,570 A300
01 AtR2t2l] 2,700 3,000 A300
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HE: SAIQ X9 OH
oL 2HE U DIBHAIE AR (Shol: % 2)
S - FB . G(BIH) - RAY - BAS Ofl by G o MimE=EY
O &I0IFe 24 & 220z S0l
3,000,000=2%90/100 2,700
02 S324| 2,570 2,570 0
O sSIReERZ 2,570& x1,000= 2,570
401 AlEHIZL L 0HH] 800,000 4,000,000 A3,200,000
01 Al&H| 800,000 4,000,000 A3,200,000
O &AJ|0|1&s ZHEANE EXNLE4 800,000
A2 SSHHFAIE LA 800,000 300,000 500,000
401 A& H|I L E0HY] 800,000 300,000 500,000
01 Al&HI 800,000 300,000 500,000
O A2 SEXNSAE =LA 800,000
CAHEERZ 022X 24 100,000 200,000 » 100,000
401 AIEHILE0HY] 100,000 200,000 » 100,000
01 Al&H| 100,000 200,000 100,000
O EAAHEEZ 022 KEH 100,000
e, 2 U2 1354 T2 EEAIZA} 500,000 4,000,000 3,500,000
401 AlEH|IZL L 0HH] 500,000 4,000,000 /3,500,000
01 Al&HI 496,425 3,989,229 N3,492,804
O &dl, 2= 2 1-3ad E=2&L A 496,425
03 AlE 2 0HHI 3,575 10,771 NT7,19%
O &, 2= Uz 1354 S22 E
496,425,000 +0.72/100 3,575
Ml SZ1256 S2IHE A 1,100,000 400,000 700,000
401 A& HILE0HY] 1,100,000 400,000 700,000
01 Al&H| 1,096,054 397,495 698,559
O &g s212546 =24 1,096,054
03 AlE 2 0HHI 3,946 2,505 1,441
O &l s21286d =204 3,946
22X ZS222s8 E2IEAIY 750,000 340,000 410,000
401 A& H|ILE0HY] 750,000 340,000 410,000
01 Al&HI 745,304 337,569 407,735
O 8N 222546 T2 IHE A 745,304
03 AIEE20HYI 4,69 2,431 2,265
O 238 2222546 E2IME A
745,304,000 %0.63/100 4,696
BN AZ2H4SH T2IHE A 450,000 300,000 150,000
401 AlEHIZL L 0H] 450,000 300,000 150,000
01 Al&HI 446,783 297,855 148,928
O 88 AZ2-45K S2IHE ALY 446,783
03 A& 2 0HHI 3,217 2,145 1,072
O 88 A224sH S2IME A
446,783,000 +0.72/100 3,217
A2t AZ2-1,3-2,3-356 T2 IE ALY 125,000 300,000 A 175,000
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401 Al HIZL 2018 125,000 300,000 A175,000
01 Al&H| 124,106 297,855 A173,749
O o2t 222-1,3-2,333d S2IHEAY 124,106
03 AIZ2THYI 8%4 2,145 1,251
O o2t 222-1,3-2,33=28 T2IHEA
124,106,000+0.72/100& 8%4
Ol L2265 E2IHE ALY 110,000 0 110,000
401 AIEHIZ SR 0HYI 110,000 110,000
01 Al&HI 110,000 110,000
O 0IM 2226546 E2H& 110,000
A2 AZ32SH E2IHE ALY 500,000 300,000 200,000
401 Al HIZL 201 500,000 300,000 200,000
01 Al&H| 496,425 297,855 198,570
O 2 AZ32sH T2IHEAS 496,425
03 AIZ S THYI 3,575 2,145 1,430
O A2 223258 EZIHEAME 3,575
A& OI=Z2AIE RXI2el 124,830 204,500 AT9,670
201 et 3| 1,080 11,500 210,420
01 At22t2l] 1,080 2,500 1,420
O MEJ 2 22 M
1,200,000 *90/100 1,080
206 M=l 2,250 2,500 A250
01 MZH| 2,250 2,500 A250
O ANEHE=Z A OIEAME M=
2,500,000 +90/100 2,250
301 2N = 1,000 1,000
14 JIEt2a3 1,000 1,000
O &N T HA=E
500,000 <22 1,000
305 ia =S 500 500
01 that=S 500 500
O ExsStid 23 500
307 el2tol & 50,000 50,000
06 28= 50,000 50,000
O 2===2 NEANEE I 50,000
401 AlZHIZ SO 70,000 140,000 70,000
01 A28l 69,375 139,375 A70,000
O NEANEZ & 0IZAIE RAI2e 69,375
03 A& CHYI 625 625 0
O MNEHEZ & 0IBAIE RXI2e
69,375,000& +0.9/100 625
=ESF AEAZ FHIAEE 500,000 0 500,000
401 AIEHIX SO 500,000 500,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 496,425 0 496,425
O NENER FHl & & 496,425
03 A2 THYI 3,575 0 3,575
O ANEHEZ FHl & - 3,575
SAHEZ0F MY SR 50,380 21,280 29,100
201 fer=3| 7,440 6,340 1,100
01 At 22|l 7,440 6,340 1,100
O EAY 23 24|
1,000,000 +90/100 900
O ZANY A3 & dE2It 212 24
70,0002 x7 H 63 2,940
O AN AL =5
1,200,000 324 3,600
202 04| 2,940 2,940
01 =LHOLI 2,940 2,940
O ZAIMYE 20
70,0002 x5 x 122 %70/100 2,940
401 Al HIZL 201 40,000 12,000 28,000
01 Al&H| 40,000 12,000 28,000
O ZAIMY Ald =Xl2 15,000
O el sted=0E S EHIAY
(FRIF00lAH) 25,000
SAIHE OtOIDl € XIEdE 29 47,641 34,000 13,641
[ 14,285
T 33,356
201 Eer23 | 2,3% 4,000 A1,644
01 At2tltl 2,35 4,000 A 1,644
O 2F2 TAIMY mEAE g2 2,356
207 ARl 45,285 30,000 16,285
= 14,285
[Ea 31,000
01 Sl 45,285 30,000 15,285
O SAITHA OO0l =& 45,285
s 14,285
s 31,000
a0 SANY sEA(ReISUIERDI) 100,271 270,000 169,729
101 @124H| 39,571 0 39,571
M ORIMZZ2NSE S 39,571 0 39,571
O ZANYHEAAEE 2 39,571
-JlEs 78,8803 x22H 183 28,871
-ReRg-Y 78,8803 20 x4 5,680
-AXtE 78,8807 x2H 0 1,420
- 282 200,000 2+ & 3,600
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 10,700 10,700
01 At2teltl 8,000 8,000
O X2 (ARA, APRIID| 8)
800,000 *9H & 7,200
O 223 7Y 800
02 s3=gHl 2,700 0 2,700
O 524l 300,000 90 2,700
207 ARl 50,000 50,000
01 H1E4H] 50,000 50,000
O FUggHsEs =X 50,000
CASE RA2e 2,296,098 1,251,024 1,045,074
CASE 2 2,296,098 1,251,024 1,045,074
CAIESE 2l 1,466,098 1,231,024 235,074
101 e124d| 297,954 298,285 A331
M ORNZZ2NSE S 297,954 298,285 A331
O EAIs32 297,954
-Jles 78,8803 x 15 184 217,709
-RERgLsY 78,8803 15 +x0E x4 42,5%
—AXte 78,8803 x 150! 10,649
—“2E= 200,000& x 15+ 27,000
201 Ler23 | 187,380 138,975 48,405
01 At22t2lt] 22,920 9,200 13,720
O ZAISE W S9t= M
50,0002 *287H+25]+90/100 2,520
O % 28 2823 78
500,000 *10JH 290/ 100 4,500
O 20 =ZaA
70,0003 *50H 2-%42] 1,400
O 20 N¥g3 F4 9,500
O UXNE gt 33, sl 2l AARAAE
= 5,000
02 S3=gHl 164,460 129,775 34,685
O ZASE des U7
9,350,000 ~12& 112,200
O ZASE == =R
1,000,000& «12& 12,000
O TAIB¥ U Al22S LA & =2l(S3U
2UAIE S) 3,500,000 *4= 7| 14,000
O 0ol =017 &5 & IIZA
825,000 *187H A 14,850
O x| (ZE) 2,250
O ZAISE W Zaeia=
630,0002 7K A 4,410
O EAISE W H=SEXIJI KX
50,000%95K 4,750
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33 TAIEE FAl2d
el SAISE2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 1,764 1,764
01 2LHoIH 1,764 1,764
O ZASEE 2UES
70,0002 +32 * 123 %70/100 1,764
206 MH=H| 36,000 40,000 24,000
01 M=4l 36,000 40,000 4,000
O ZASE |NE+2 HR(NEAE S)
10,000,000 *4:2 21%90/100 36,000
305 ia =S 1,000 1,000
01 that=S 1,000 1,000
O Ex= tHeSH ANRs=
100,000& *102] 1,000
401 A& HIX R0 942,000 752,000 190,000
01 AlZH| 942,000 752,000 190,000
O ZAISE W ANES(PEE S) /A &
Fal= gt 80,000
O ZAISE W == g=d gXl
50,000,000& »23] 100,000
O ZASE W &8 & 0= - M=&g 500,000
O 2&=A ESa LA
10,000, 000& x22] 20,000
O 2&=A 88 € H=N=HEY 120,000
O XNA2EE W MFX == HIA 20,000
O ZAISE U Hi"9Es 2+3At 7,000
O ZAISE W LA & f/I8= MA 20,000
O 22U 2ets & It2s |A2el &t
HA(EAIZE) 25,000
O ZAISE W == E43AM 10,000
O ZAISEY Mg ax2dxd 40,000
O TIAESSE E7F AXTC WA (HEALR) 480,000 480,000
401 A& HIX R0 480,000 480,000
01 AlZH| 476,568 476,568
O OIM XNAIEEE =78 AX&
WA 476,568
03 A& S CHYI 3,432 0 3,432
O OlA XAIZSE =7E AX&0
WHAS 476,568,000& 0.72/100 3,432
SAE HEH=SSE 24 350,000 350,000
401 Al HIZ 2018 350,000 350,000
01 Al&H| 347,498 347,498
O SNA= 425328 &4 347,498
03 AIESTHYI 2,502 0 2,502
O SNz d4EHssd &4
347,498,000& +0.72/100 2,502
SAIZE XIS Oe 104,287 67,054 37,233
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